(1) If f(x) = 22® 4 4, which of the following is f(3)?
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(7) The tangent line to y = (2 + \/5) at @ = 1 intersects the y axis
where? |

A. (0,6) B. (0,4) C. (0,2) D. (0,1) E. (0,3)
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£0)=-3] f(1)=4

(11) Given the following data J;,(((?)) : 12 g((ll )) : 5) ,
g'(0) =—-1|g'(1) = -2

find h’(0).
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(15) Use Implicit Differentiation to find 3’ if 22 + 5zy — 6y* = 18

2z 4 5y 0 2z + 5y
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(16) Use Logarithmic Differentiation to find the derivative of f(x) = x*n®

m——— - B

A. (sinz)z®*~1 B, z%"? (cosz) (Inx)

C. Hhe + (cosz) (Inz) D. g5n= [ﬂ + (cos ) (In m)}
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(23) If y = y(z) is defined implicitly by the equation vy e¥" = 10z,
dy

then — =
dx
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(4) Which of these statements are TRUE?
(i) If f(x) = ||, then f/(0) DNE
(ii) If g(x) = M, then g’(0) DNE
(iii) If h(x) = zlwl, then h’(0) =0

A. Only (i) and (i) B. Ounly (i) C. Only (i) and (iii)
D. None are True E. All are True
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